MAHARASHTRA STATE ELECTRICITY TRANSMISSION CO. LTD.



Tender for Operations and maintenance

Information

RFx number:

7000008168

Publication:

Public RFx

Version:

RFx Name:

2ND CALL P&F OF SUSP. ASSY OF 400KV LINE

Tender Subject:

WORK OF PROVIDING AND FIXING OF SUSPENSION ASSY ON 400KV LINES

UNDER

Bid Submission:

01.05.2018

Funded By:

Tender Fee Inc. GST:

525.00₹

Estimated Cost:

503,388.00₹

Basis of Prices:

Percent Based Bid:

No

EMD Cost:

5,033.88₹

Tech Bid Open:

02.05.2018 11:00:00

Price Bid Open:

02.05.2018 16:00:00

Contact Person:

EE 8554993188 DYEE 8554993202

Additional Requested Information:

- 1)#Income Tax return filed for the last three financial assessment year?
- 2)#Valid Electrical Contract License?
- 3)#Insurance of Labour?
- 4)#Solvency certificate from Nationalized/ Schedule Bank to the extent of 25 % of the estimate sot of the works?
- 5)#Proof regarding registration under Works Contract Tax act?
- 6)#Bombay Shop & Establishment Act certificate?
- 7)#Registration under GSTIN under GOI as well as for other various taxes in force?
- 8)#EPF Registration Certificate. ?
- 9)#Details of orders executed or in hand with amount?
- 10)#The bidder must have experience of having successfully completed similar works of 100KV/
- 220KV/400KV/500KV/750KV Transmission line towers works during last three years (from scheduled date of submission
- 11)#The bidder should have minimum turnover of 60% of the tender estimated cost during any one of the preceding three financial years?
- 12) The Average net worth (i.e. current assets-liabilities) of the bidder for the previous three financial year should not be less than 20% of the tender estimated cost?

Attachments:

- TENDER DETAIL E-TENDER (2ND CALL)
- TENDER DETAIL EXTENSION TO E-TENDER
- TENDER DETAIL 2ND EXTENSION

Executive Engineer 400KV S/S (O&M) Division

AHARASHTRA STATE ELECTRICITY TRANSMISSION CO. LTD.

Tender for Operations and maintenance



Information

RFx number: 7000008168

Version: 3

RFx Details:

(*Amount in ₹)

Item	Item category Product no.	HSN/SA C No.	Description	Qty	Unit Rate	Amount
1	Outline	995400	P & F OF SUSPENSION ASSY OF 400KV LINES	1.000 AU	. · · · · · · · · · · · · · · · · · · ·	351168.00
1.AA	Service 50015584	995400	Mobil&Demob. 400kV Line Gang-Breakdown Mobilization & demobilization of T & P, labours to the site location to attend breakdown	3.000 EA	88500.00	265500.00
1.AB	Service 50000203	995400	Repl. 400kV Susp. Tower Disc Insulator Replacement of Suspension String(DSN) for 400 KV D/C Line	3.000 EA	23600.00	70800.00
1.AC	Service 50003751	995400	Fixing PA Rod Fixing of PA rods suitable for 0.5 ACSR conductor#	3.000 EA	1416.00	4248.00
1.AD	Service 50015566	995400	Fix&Crimp Susp. H/w to 400kV Line Fiixing of Double Suspension Hardware for 400KV D/C Line#	3.000 EA	3540.00	10620.00
2	Material 500010184	85381090	Suspension Double String Plate wt H/w SUSPENSION DOUBLE STRING PLATE WITH H/W	3.000 EA	50740.00	152220.00

(*Unit Rate mentioned is inclusive of all taxes)

Executive Engineer
400KV SIS (OEM) Division
MSETCL, Warons.

AHARASHTRA STATE ELECTRICITY TRANSMISSION CO. LTD.

Tender for Operations and maintenance



Information

RFx number: 7000008168

Version: 3

Annexure - I

(* NR is for Invalid Condition)

Item	Product No.	HSN/SAC	GST App. in %	Item type	Conditions*
1		995400	18.00	Е	
1.AA	50015584	995400	18.00	Е	EXW,
1.AB	50000203	995400	18.00	Е	EXW.
1.AC	50003751	995400	18.00	Е	EXW,
1.AD	50015566	995400	18.00	E	EXW,
2	500010184	85381090	18.00	S	EXW.

(* PFQ -> Packing and Forwarding Per Quantity

FRQ-> Freight Per Quantity

FR%-> Freight in Percentage,

EXW ->Ex-Works (Basic Price), PFP-> Packing and Forwarding in Percentage, INQ-> Insurance Per Quantity,

INP -> Insurance in Percentage, DISCQ-> Discount Per Quantity,

DISCP->Discount in Percentage)

executive Engineer 400KV SIS (OSM) Division



2nd Extension to E-Tender (RFx No-7000008168) Notice

Digitally signed online bids are invited for flowing E-Tender (RFx) through MSETCL SRM E-Tender process in two bid system from authorized contractors/bidders who are registered Vendors of MSETCL for following works under 400KV S/S(O&M) Division Warora.

Sr	RFx No.	Double de la			
٠. ا	M X NO.	Particulars of wok	Estimated	EMD (Rs.)	Tender Fee
No.		· (*	Cost in (Rs.)	*	(Rs.)
1)	7000008168	Work of Providing and		5033.88/-	500/-
		Fixing of Suspension Assy on	Rs. 5.03		+5%
		400KV Lines under 400KV	Lakhs		GST=525/-
	La article	(O&M) Division Warora			

Sr No.	Particulars	Description				
1	Sale period	From dt. 24.04.2018 TO 01.05.2018				
2	Submission date	dt. 01.05.2018 up to 23:59 hrs Dt. 02.05.2018 if possible.				
3	Technical Opening date					
4	Commercial Opening date	Dt. 02.05.2018 if possible.				
5 EMD Amount & Tender Fee		Rs. 5033.88/- (EMD) & Rs. 525/-(TENDER				

> For further details visit our website: - https://srmetender.mahatransco.in

> All other terms & conditions of the RFx-7000008168 remain unchanged.

> All the Bidders are requested to refer MSETCL Web Portal from time to time for Amendments, Extensions etc...related to this Tender.

Executive Engineer 400KV S/S (O&M) Division MSETCL Warora